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Select the correct alternative with and write answer in answer book. [10]
A Public good has the characteristic of

(&) Rivalry (b) Non-divisibility

(c) Exclusivity (d) Utility

An oligopolisctic Market is ideal in case of

(a) Exhaustible natural resources

(b) Common property resources

(c) Environmental services

(d) Transport services

The concept of large of 'latent’ group has been given by

(a) Olson (b) Oakerson

(c) Buchanan-Tullock (d) Elinor Ostrum

The role of the 'political entrepreneur’ in promoting collective action
has been explained by

(a) Olson (b) Oakerson

(c) Buchanan-Tullock (d) Elinor Ostrum

The idea of 'tragedy of the commons' was given by

(a) Pigou (b) Hardin

(c) Olson (d) Daly

Coase's model has been criticized on the basis of

(a) Ignoring transaction costs

(b) Considering transaction costs

(c) Lack of practical use

(d) Unrealistic assumptions

The Ministry of Environment and Forests (MEF) was formed in the
year

(&) 1980 (b) 1985

(c) 1981 (d) 1991

The New Environment Policy of India was declared in

(&) 2005 (b) 2001

(c) 1997 (d) 2006

Sustainable development was defined by the

(@) Earth Summit (b) United Nations Environment Programme
(c) World Commissions on Environment and Development
(d) Hotelling

Refundable deposits are used to recycle

(@) Clothes (b) Cold-drink bottles

(c) Water (d) Medicines
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What are Command and Control (CAC) measures of environmental
policy ? Are they successful ? Why ?
Explain refundable deposit system. How can it be applied ?

OR

Explain in detail, Pigou's views on providing subsidy for environmental
protection.

What is collective action ? How do transaction costs affect collective
action ?

Explain in detail, population growth model. What lessons can be
drawn from it ?
What is carbon credit trading system ? What are its advantages ?

OR

Explain a note on recent environmental movements in India.
How does the WTO try to bring a balance between trade and
environment ?

Write a note on theories of optimal use of exhaustible natural
resources.
Write a note on environmental laws in India.

OR

What do you understand by 'tragedy of the commons'? How can it be
resolved ?

What is Common Property Resource (CPR) ? What are its
characteristics ? How is it different from private and public property ?

Critically examine Olson's theory of CPR management.
Explain Elinor Ostrum's theory of CPR management.
OR

Explain Oakerson's theory of CPR management.
Write a note on Buchanan and Tullock's model of CPR management.
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